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QUESTION 1

An architect needs an agnostic provider of persistent storage for their OpenShift Container Platform, that supports file,
block, and object storage, either in-house or in hybrid clouds, Which provider should the architect choose?

A. HostPath Storage

B. Red Hat OpensShift Container Storage
C. FlexVolume Drives

D. OpenStack Cinder

Correct Answer: A

QUESTION 2

Which situation would lead to loss of an etcd quorum in an OpenShift v4 cluster?
A. The database used by all Cloud Pak for Integration components is corrupted
B. OpenShift has lost all worker nodes

C. The majority of master/control plane hosts are lost

D. One of the master nodes has gone off line

Correct Answer: A

QUESTION 3

In Cloud Pak for Integration, which object can be used to request storage resources without knowing the underlying
storage infrastructure?

A. Persistent Volume Claim (PVC)
B. Persistent Volume (PV)

C. RADOS Block Device (RBD)
D. Elastic Block Storage (EBS)

Correct Answer: C

QUESTION 4
What is the minimum number of CPU cores that are required to install the Cloud Pak for Integration Common Services?

A. 16 cores
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B. 2 cores
C. 4 cores
D. 8 cores

Correct Answer: C

QUESTION 5

Which statement describes Container orchestration?

A. A CI/CD component that automates steps in a software delivery process

B. A runtime environment that automates and reports on processes that are intended to help optimize businesses
C. The automated process of managing or scheduling workloads within clusters

D. A small software layer that enables multiple operating systems to run alongside each other

Correct Answer: A
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